
IMPROVING YOUR WRITTEN ENGLISH - ONE
Each sentence has either ONE serious error or ONE example of poor style and/or syntax which could
easily be improved. Identify the problem and write a correction.
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India is maintaining its tradition of diamonds cutting.

HK’s colonial history makes it apart from other regions of China.

Most diamonds mined are used in industry rather than jewelleries.

Chinese buy more diamonds these days.

China’s diamond market has a huge potential.

Hong Kong’s diamonds market is very huge.

China produces about 100,000 carats of rough diamonds annually for a world total of 110,000 carats.

Past experiences suggest that further progress will be difficult.

We must invest more resources into training and development.

This makes it the 13th largest market of the world.

Japanese spend more on diamonds than consumers in the rest of the world.

Even in India there is a huge diamonds market.


